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= 120,000 59,000 61,000
Al 120,000 59,000 61,000
301 LeEAF 240,000 118,000 122,000
= 120,000 59,000 61,000
Al 120,000 59,000 61,000
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= 120,000 59,000 61,000
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Al 6,000 1,050 4,950
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= 6,000 1,050 4,950
Al 6,000 1,050 4,950
12JIE243 12,000 2,100 9,900
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12,000,000& 12,000 2,100 9,900
= 6,000 1,050 4,950
Al 6,000 1,050 4,950
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= ,368,050 9,405, 100 3,962,950
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2N
X ZH -
L= B

el

Jl= A Ef ot
=23 2
J=UIl ez 2el

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
o WINEEFY (=AU, HIIE35s) 2
el Z & 216,000,000 216,000 198,000 18,000
= 108,000 99,000 9,000
Al 108,000 99,000 9,000
=2MIINSA ES 7,500,000 4,500,000 3,000,000
= 4,500,000 2,700,000 1,800,000
S 1,000,000 600,000 400,000
Al 2,000,000 1,200,000 800,000
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O RHOMSS IHLXS 2222 X
2 11,670,000 11,670 11,650 20
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01 Al& I 26,000 0 26,000
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405 THaHE S| 12,000 24,000 A12,000
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